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Multiple Choice: This mathematician developed a theory...

Question ‘This mathematician developed a theory that explains why gas stations and fast food restaurants tend to cluster near each other.
Answer Adam Smith
David Ricardo

@ Harold Horeling

John Maynard Keynes

Multiple Choice: A demand curve best represents
Question A demand curve best represents

Answer n upward sloping line that governs various equilibrium ouscomes.

© Al combinations of quanciy demanded and price.

‘The point that consumers purchase for a given price level.

Adownward sloping curve that determines whether a good s normal o inferior.

Multiple Choice: Which of the following is NOT true.&n...
Question Which of the following is NOT true. An "equilibrium’” occurs where

Answer Quantity Supplied = Quantiyy Demanded

‘The Supply Curve intersects with a Demand Curve.

No shortage or surplus exists,

@ Price s maximized.

Points: 08

Points: 08

Points: 08

Points: | 0.8
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Multiple Choice: Allen Thomas, the former Greenville M... Poins: 08

Question Allen Thomas, the former Greenville Mayor, ran & campaign recently to expand brozdband coverage throughout easter NC. To incresse access to broadband, North Carolina imposed s price celling of $20/month on this high-speed
interner sccess. The equilibrium price for such a service is spproximately $80/month. Whatis likely to be one effect of this policy?

Answer © Quany demanded slikely  exceed quantiy supplied resiing i a shoriage.

Quantity supplied islikely o exceed quantity demanded resulting in a surplus.

Quantity demanded s likely to exceed quantity supplied resulting in a surplus.

Quantity supplied s likely to exceed quantity demanded resulting in a shortage.

Multiple Choice: North Carolina soybean farmers a... Poims: (08
Question North Carolina soybean farmers are currently hurting from a crade war. To improve their velinoods, North Carolina's General Assembly imposed 2 price fioar of $10/bushel on this crop. The equiirium price for a bushel of soybeans s
58, Wha s likely o be one effectof ths policy?
Answer Quantity demanded is likely to exceed quantity supplied resulting in & shortage.
© Quantiy supplied s liely to exceed quantiy demanded resufing in s surplus.
Quantisy demanded s likely to exceed quantisy supplied resufing in s surplus.
Quantiy supplied i liely o exceed quantiy demanded resufing in s shorcage.
. . Points: 04
Multiple Choice: North Carolina passed new environment...
Question North Carolins passed new environment regulations that incresse the cost of amiml griculsure, North Carolins pork producers decid to relocste to lows, hich does not have simiar environmentsl protectons. What wss the impace

o this relocation on equilibrium prices and quantities in lowa's pork market?

Answer Price Up, Quantity Up

Price Up, Quantity Down

© Price Down, Quantity Up

Price Dovn, Quanity Dovin




image3.png
Multiple Choice: During a major hurricane, the concept... Points: 0.8

Question During a major hurricane, the concept of would ensure that gas prices increase in response 0 a demand shock or supply disruption. However, we might also se a shortage of gasoline because of

== Inflation, Pipeline bursts

Price ceilings, price fioors

PPEs, Comparstive Advantage

© The Invisible Hand, Ant Price Gouging Laws

Multiple Choice: We observe that Finland produces ex Poims: (08
Question Ve observe thst Finland produces exclusively tmber while Sweden produces exclusiely meatbsls, These tio countries trade esch of hese produccs wih eschother. Wihat doss ths observation suggest?
Answer Finland has an sbsolute sdvantage in producing timber.
© Finland hss s comparative scvantage in producing tmber.
Filand hs an sbsoluce scantsge i producing mestballs.
Filand hs s comparative sdvantsge i producing mestball.
’ : . Points: 08
Multiple Choice: Mad cow disease reduced the productio...
Question Mad cow cisease reduced the produccion sbily of daiy producers. Which was NOT one of he effects f s disesse?
Answer

Equilibrium price increased

Equilibrium quantity supplied decreased.

Equilibrium quantity demanded decreased.

© People consumed more oreos.
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0. Multiple Choice: Globally, trade should not...
Question Globall, crade should .

Answer Increase the size of the global economic pie.

Create inequities among indusries within countries.

© Make the average person worse oft.

Encourage specialization of production.

Points: 08




